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float sheep[10];
Int a2001[1000];

m BXEVE: WA THERMOFFIS
inta[10]={1,2,3,4,5,6,7,8,9,10 };

1123 |4|5|6/|7/|8|9]/10
a[0] | al1] | a[2] | a[3] | a[4] | a[5] | a[6] | al7] |a[8] |al9]




#include<iostream>
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using namespace std,;

e
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Int main()
{
Intn=10;
inta[nf={0 },
for (int1=0;1<10; i++)
cout << a[i];
return O;
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#include <iostream>

using namespace std;

Int main()

{
constint i =4;
intali]={1,2,3,4};

cout << "a[0]="" << a[0] <<endl
<< "a[1]="" << a[1] <<endI
<< "a[2]="" << a[2] <<endI
<< "a[3]="" << a[3] <<endl;
return O;
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#include <iostream>
using namespace std;

#define N 4
Int main()
{
inta[N]={1,2,3,4};
cout << "a[0]="" << a[0] << endl
<< "a[1]="" << a[1] << endl
<< "a[2]="" << a[2] << endI
<< "a[3]="' << a[3] << endl;
return O;
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inta[10]={1,2,3,4,5,6,7,8,9,10 };

1123 |4|5|6/|7/|8|9]/10
a[0] | al1] | a[2] | a[3] | a[4] | a[5] | a[6] | al7] |a[8] |al9]
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#include <iostream>
using namespace std;

Int main()

{
Int a[4];
cout << af0] << a[1] << a[2] << a[3] << endl;
return O;

}

-858993460 | -858993460 | -858993460 | -858993460
a[0] a[l] al2] a[3]
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#include <iostream>
using namespace std;

Int main()
{
inta] ]={1,2,3,4};
cout << af0] << a[1] << a[2] << a[3] << endl;
return O;
}
1 2 3 4

a[0] a[l] al2] a[3]
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#include <iostream>
using namespace std;

Int main()
{
Inta[4]={1,2};
cout << af0] << a[1] << a[2] << a[3] << endl;
return O;
}
1 2 0 0

a[0] a[l] al2] a[3]
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#include <iostream>
using namespace std;

Int main()
{
inta[4] ={0};
cout << af0] << a[1] << a[2] << a[3] << endl;
return O;
}
0 0 0 0

a[0] a[l] al2] a[3]
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#include <iostream>
using namespace std;

Int main()

{
Int a[4] ={ 1% 6 };
cout << a[0] [TW< a[2] << a[3] << endl;
return O;
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#include <iostream>
using namespace std;

Int main()

{
Inta[4]={1,2,3,d},
cout << a[0] << a[l] < < a[3] << endl;
return O;
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inta[12]={1,2,3,4,5,6,7,8,9,10, 11,12 };
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int a[3][4];
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#include <iostream>
#include <iomanip>

using namespace std;
Int main()

{

inta[3][4] ={{1, 23,4} {5,6,7,8}{9,10,11,12} };
for (inti=0;1<3;i++)

{
for (intj = 0;j < 4; j++)
cout << setw(3) <<a[i][j];
cout << endl;
}
return O;
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#include <iostream>
#include <iomanip>

using namespace std;
Int main()

{

inta[3][4]1={1,2,3,4,5,6,7,8,9, 10, 11, 12 };
for (inti=0; i< 3; i++)

{
for (intj =0; j < 4; j++)
cout << setw(3) <<a[i][j];
cout << endl;
}
return O;
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#include <iostream>
#include <iomanip>

using namespace std;
Int main()

{

inta[][41={1,23,4,5,6,7,8,9,10, 11,12 };
for (inti=0; i< 3; i++)

{
for (intj =0; j < 4; j++)
cout << setw(3) <<a[i][j];
cout << endl;
}
return O;
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#include <iostream>
#include <iomanip>

using namespace std;
Int main()

{

int a[ ][4] = {{1}, {0, 6}, {0, 0, 11}};
for (inti=0; i< 3; i++)
{
for (intj=0; j < 4; j++)
cout << setw(3) <<a[i][jI;
cout << endl:

¥

return O;
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#include <iostream>
#include <iomanip>

using namespace std;
Int main()

{

inta[3][4] = {0}

for (int1=0;1<3; I++)

{
for (intj=0; ] <4; j++)
cout << setw(3) <<ali][jl;
cout << endl;
}
return O;
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Int main() o5 15 2% 3%
{ 1121 3| 4
inta[3][4] ={0}; Y aro1i01 | aonta1 | o2y | atoitay
for (inti=0;1<3; i1++) 151 6| 7 | 8
for (int) =0; ) <4; J++) 0 ara11o] | apai | apaiz) |
el =4=1+y+1 g 110 | 11 | 12
o _ _ ! a[2][0] | a[2][1] | a[2][2] | a[2][3]
for (inti=0;i<3;i++)
{
for (intj=0; j <4; j++)
cout << setw(3) << a[i][jl;
cout << endl;
}
return O;
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a[4][3][4];
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Int main() // //
{ _ /. /7
int a[5][3][4] = {0 }: £~
for (inti=0;i<5; i++) /
for (intj = 0: j < 3; j++) 11234V
for (int k = 0; k < 4; k++) /
afillil[k]=12*i+4*j+k+1; 516171 8 |
for (inti=0;i<5;i++)
‘ o (10|11 ]12]])
for (intj =0; j < 3; j++)
{ s 6 7 8
{ 9 18 11 12

=4

for (int k = 0; k < 4; k++)
cout << setw(3) << a[i][j]1[K];

}
cout << endl;
}
cout << endl;
}
return O;
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inta[12] ={1,2,3,4,5,6,7,8,9, 10,11, 12 };
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for (1=0;1<10; I++)
{
cin >> num;
for (j =0;J <10; j++)
{
If (num==))
count|[j]++;




Y
W™

Bl Bvsiit

#include <iostream>
using namespace std;
Int main()

{

}

}

return O;

Int num, count[10] = {0},
for (inti=0; i< 20; i++)

cin >> num;
for (intj =0; ) < 10; j++)

If (num==j) count[j]++;

for (inti=0;1<10; i++)
If (count[i] '=0)

cout << i << " N\ 1" << count[i] << "¥X" << endl;
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for (1=1;1<=20;1++)
{
cin >> num;
switch(num)

{

case O : count|
case 1 : count|
case 2 : count|
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#include <iostream>
using namespace std;
int main()
int nim nn_um‘ﬂ 01 = 0 ]
for (inti=1;i<=20;i++)
{
cin >> num:
switch (num)
{
case 0: countlOl++: break:
case 1: countl11++: break:
case 2: countl21++: break:
case 3: countl31++: break:
case 4: countl41++: break:
case 5: countl51++: break:
case 6: countl6l++: break:
case 7: countl71++: break:
case 8: countl81++: break:
jiase 9: count[9]++; break;
for (inti=0;i<10; i++)
{ if (count[i] '=0)
cout << i << "\ T << count[i] << "¥X" << endl;
return O;
}
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for 1=0; 1<20; 1++)

{
cin >> num;
count[num]++;
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#include <iostream>

using namespace std;

Int main()

{
Int num, count[10] = {0};
for (int1=0;1<20; i1++)

{

cin >> num;

count[num]++;
by
for (int1=0;1<10; i1++)
{

If (count[i] '=0)

cout << i << "# N\ 1" << count[i] << "¥X" << endl;

by
return O;
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for(i=0;1<1000;1++)
{

cin>>name>>school>>department;
teacher[school][department]++;

}
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#include <iostream>

using namespace std;
Int main()

{
bool prime = true;
for (int1=0;1<100; i++)

{
prime = true;
for (intj=2;j <1, j++)
If (1% )==0)
prime = false;
If (prime == true)
cout<< i << endl;
¥
return O;
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#include<iostream>
using namespace std;
Int main()
{
Intsum =0, a[100] ={ 0 },
for (int1=2;1<100; i++)
{ |
sum = i;
while (sum < 100)
{
sum =sum + I;
If (sum < 100) a[sum] = 1;
¥
¥
for (int1=2;1<100; i++)
{

}

return O;

if (a[i] == 0) cout << i<<"";
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#include<iostream>
#include<cmath>

using namespace std;
Int main()
{
Int sum =0, a[100] ={ 0 };
for (inti = 2; i <sqrt(100.0); i++)
{ |
sum =1,
while (sum < 100)
{

sSuUm = sum + i;
If (sum < 100) a[sum] = 1;
¥
Yoo |
for (inti1=2;1<100; i++)
{

if (a[i] ==0) cout <<i<<"";

return O;



#include<iostream>
#include<cmath>

using namespace std;

Int main()
t Int sum =0, a[lOO] ={0};
for (int1=2;1<sqrt(100.0); i++)
{ sum =1,
If (a[sum] == 0)
{ while (sum < 100)
t sum = sum + i;
\ If (sum < 100) a[sum] =1,
% r(mt 1 =2;1<100; i++)
i If (a[i] ==0) cout <<i<<™";

return O;
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